\(A)‘%'Q b AM&J(A}\)\ gm)w .

o o o alizl las]|

e bohe 3 :94S | bo pubstitude g otton  thre oopotiondt —
() 2 . T
: b4/e £ =995

/g’)J Cs 0.2C +0:2 T ~34 =) S-.o-zc,+(%.>(qs) YY)
D § 020 14034 D)

\ Sc = OTTLjSABD
O 4. Y- -5 as ] @)
—s  tyled (‘yfﬁo(\&;—wm we cpt ¥g@,b dur ’ffMJaX
O:} L{;C -0.2C /5 +0S =)
D Yy = (4-0.2)C + 140 _

4 ~
.3 1\{ = (\-?C "’4‘10]@ e
\‘{J ot . o . pm Tawd OL&-‘G"’ ¢ :
C=0-28 .0dC t6.78.440 145
D c= 3.4 .c 4 3,240 tAS
v 5 u
& s B g o+ B30 4 ge
a - e
P -6 C F33°+q$
)
s{f-0.6)C = 330 ,___,__I
- “ 3? l'q
D C = £:2-5139S L‘\‘
o
-~ n.u‘\.%(
=) = AF7--° ) e A
O iy
a‘DA,MJ' = Mi@\ 356 -?'f-‘u’)‘m‘

. @ y  g=(0.2){uuy-3) -5 = R 35 .as W



